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                ..

    
      (bit) .

       
B = {0, 1}

           
      (byte) 

0100000101000001
             

       :
  =1024  =  

1024 1024 =1024 x 1024=  
  =1024 x 1024 x 1024 =  

3

=1024 x 1024 x 1024 x 1024=   



 
•    10
      10           

:
724.5 = 7 x 102 + 2 x 101 + 4 x 100 + 5 x 10-1

•2)( •    2)   (  
        2             

:
101101 = 1 x 25 + 0 x 24 + 1 x 23 + 1 x 22 + 0 x 21 + 1 x 20  101101  1 x 2  0 x 2  1 x 2  1 x 2  0 x 2  1 x 2

   :(101101)2 = (45)10
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  10 2
•      10   2      

:
25252

12122 11

662 00662 00
332 00
11 1111 11

   :(11001)2 = (25)10
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8 16
216)(         2 16) (

      8    

    2   8  16 )   (    
8162       816     2 
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8 16
•16  

       2  16     8   

2    8  16                      2       16
0000            0 0                          1000           8
00011110019 0001           1           1                          1001          9
0010            2            2                           1010           a
0011331011b 0011           3           3                          1011          b
0100            4            4                           1100           c
0101551101d 0101           5           5                          1101          d
0110            6            6                           1110           e
0111           7           7                          1111          f
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  : 6875  /41     2  .

2:         2  :
  41
12 1:20
0  :10

5 0:5
1  :2

1 0:1
1  :0

8

(41)10 = (101001)2

  )( )(
         2  

0.6875 * 2 = 1.3750
0 375 * 2 0 7500.375 * 2 = 0.750

0.75 * 2 = 1.5
0 5 * 2 = 1 00.5 * 2 = 1.0

(0.6875)10 = (0.1011)2

    41.6875   10   101001.1011   
22
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  )8( )(

(736.4)8 = 7 x 82 + 3 x 81 + 6 x 80 + 4 x 8-1 = (478.5)10

(736.4)8 = (111011110.100)2
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BCD
•  BCD    10  4     

:
(125)10 = (0001 0010 0101)BCD
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 (ASCII Code)( )
           

:
 A0100 0001

  a  0110 0001 
7   7 

       8    

12

   
•          :

1    1-  –
   2- r-1

 3-   r

r     r  
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•         
     

) :1414-82( ) : 14148  2(
(+14)10 = (0 000 1110)2

(-14)10 = (1 000 1110)2
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 r-1
•   r-1           

1r-1  
  ) : 14  14-8   2(

(+14)10 = (0 000 1110)2

(-14)10 =(85)9’s complement

= (1 111 0001)1’s complement (1 111 0001)1’s complement
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 r
•   r            

1r-1          
  ) : 14  14-8   2(

(+14)10 = (0 000 1110)2

(-14)10 =(86)10’s complement

= (1 111 0010)2’s complement (1 111 0010)2’s complement
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•            
A B A + ( B)A – B = A + (-B)

:     10   10
72532 – 13250= 72532 + (-13250)

10(-13250) = 86750 1    ( 13250)  86750
72532 + (-13250)

72532 (86750)= 72532 + (86750)
= 1 59282

        
72532 – 13250= 59282
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72532 13250  59282



    )r( )(
•     )r (       

:2)2(    :   2)2(
(+  6) 0000 0110 (- 6) 1111 1010

+(+ 13) 0000 1101        +(+ 13) 0000 1101

------------------ -------------------

(+ 19) 0001 0011 (+  7) 0000 0111

(+  6) 0000 0110         (- 6) 1111 1010

+(- 13) 1111 0011 +(- 13) 1111 0011

------------------- -------------------

(- 7) 1111 1001 (- 19) 1110 1101
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(overflow)( )
•    n  n+1        

8    :  8  
01           10   

(+ 70)   0100 0110         (- 70)   1011 1010
(+ 80) 0101 0000 (- 80) 1011 0000(+ 80)   0101 0000         ( 80)   1011 0000
-------------------------------- -----------------------------------
( 106) 1001 0110 ( 106) 0110 1010(- 106) 1001 0110        (+106)  0110 1010

Overflow = Cn XOR Cn-1
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  (Floating Point)( g )
•          

       m × r e

   r m   e    
     2    

                
  

::
= 9.7510m × r e = 0.10011102 × 2 +4
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 (Gray Code)( y )
•            

  4 

    
8 1100 0 0000

9 1101 1 0001

10 1111 2 0011

11 1110 3 001011 1110 3 0010

12 1010 4 0110

13 1011 5 011113 1011 5 0111

14 1001 6 0101

15 1000 7 0100
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  (Error Detection Code)( )
•           
              
                
•  (Parity Bit)

           
     1            

1)( 1 ) (  .
 :  0111            

11    
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•    4  

ABCD •ABCD   
•E  
•O   
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•     

E = A ⊕ B ⊕ C ⊕ D
C

A

0 1 3 2
4 5 7 6
12 13 15 14

B

A
8 9 11 10

D
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1-    –1387

25


